2024%5A298 PRI 6R URABEIL Y aFvy LU P 2BHEFHE

| % E 6R J RAn.aﬁjb/v:ﬁ‘v LUD2BIEHE 1000m 9—l~ A H< . 250, 70, 52.5, 35, 17.5%5M m °
FqEJ 6 17:00 |#5JLwv F%R 28 % ES 1:00.8 BSFISEBARS 534 138 544 20 454 15 345 14 ’/}
: ~Z ™ L 741.\ i?f 1:00.6 L—2R 5y F{fE : MMM 32 MSS 27 HMM 25 SSS 16 Grant
HEE | FEER %E‘Ei‘di@% T i 35 E AR 11TE=FR BH BigE E, F. B) )it B 27B=1-28& L-7) 77Z MTH=#IE - FE- AK A
7B & E % B  F | MESHZET(S £ro12% @ Z 00 [MTE=BAE- - BHF-FE 2. 3. 4ABBIEN STE=HH- - 3—X - BIHKE 244 LEAYSF
& 26| B & |ExBE/AFE|m T |8 7 12000 |67 =L—XR—XF3F - hff - %IF HEL, WFEL, SELY) BT 3 FiL BEMER 29-b~4f - 3A~4A - #IF(5~1) L£Y 3 FIRK
Z|&| 8| Bor) ME| 2 6 & | #100085 |9k & guﬁ;g}gggm L—REYBFRAL - LFEDELYIFEAL 0.5 DBAKE IFE=1EEXE2EE (EE) 1, 2. SEEOME
£E/BE BroX | BERM | -6 AR | # TETFR| M2 i700m i WA E 3R AFERT [ 5ERT
AT—ATOVFY #2 .
=4, Bl 7 I3V ADE—XII
FE—X 53.0 123
11 A=Yt IS5T E | kcE
(F2THANAN) dtiEiE 231
BIE77-4 0.0.0.0
REEF 0.0.0.0
E—F/{FO—L 42 ] .
AY—FA4T— g%‘é‘g&»ma ELW+TAO—
A 2 RXNTUIY B | kg
(yB7%x) dtiiE 211
FRE— 0.0.0.0
YIAb. TVAL. T4 W (k) 0.0.0.0
Z1—AY—XTA 42 -
YLV DAz |ENR [ BREO-HIEE
3 K L—SanTAvL B | AIE
(FLVFFEa2T 1) dti#s3E 378
*IBAHG 0.0.0.0
() 1-he 74 0.0.0.0
I PENS 42 - n
B _ FL ALEAMD (FT42F2FE) +R
VAT 55.0 117
43 N=LTFILE E | #4E
(Giant’ s Causeway) igE 178
75477-h 0.0.0.0
AEHHE 0.0.0.0
Fr/I59 70 d -
O4ILA DT'f_ %%?268 éﬁ‘{(l))‘DT4—o R&. BEANDDE
5(5 FLTRAOF 4 — & | Bt
(=L F7Ya—) i 322
ZIBH5 0.0.0.0
SHAE 0.0.0.0
EXF7Rav bk 42
EXIFUNL BB | BB
3 6 EANFHY 28 | KIS
(N—EvPr—) dtisiE 280
HA L B R%S 0.0.0.0
(BR) vt 40 -YRTA 0.0.0.0
TJ—ILFFY—L4 42
S 522 =] |
IAVUARLT E%?B;US BE+BETHEASVHEOLZELY
1(7 TfvvELT R | BHE
(T—=>2T47—F) dtiiE 207
ks 0.0.0.0
FHAE 0.0.0.0
Ny IT—I—)L 42
FENTHETUY | P, BETRE
8(8 "5 F—n E | s
(RFAT=ILF) it 222
EAlE e ] .0.0.
[A:EST 0.0.0.0
PRI 4 — ~1000miB4t B AiAl (SEEHAR : 2022. 05. 27~2024. 05. 26) BER 3H M=
[[:30v2 EHES HERS 17/ 2%/ 3F &S BE i %% 1 2 3 45 6 7 8
1 LI 122 21 15 12 68 0.221 0.344 (3%ME) 23 27 26 26 27 29 28 29
2 IREI—LIF— 106 22 25 15 44 0.208 0.443
3 TuF—v 108 2 15 10 63 0.185 0.324
= VAVAIRE == 151 1 18 12 103 0.119 0.238
5 A=Z—Ea—X 91 17 13 9 B 0.187 0.330
6 KL+ 61 17 9 728 0.279 0.426
7 SYF—TAN 1220 16 19 14 71 0.133 0.292
8 o—Fh+A7 7416 6 6 46 0.216 0.297
9 TFIFIYRTILR 9 15 14 6 64 0.152 0.293
10 *X+ 27 13 2 5 7 0.481 0.556

i} . . FeEMTih, SAORKERL, HERYE. BTEELE, TATERERTOHEREBALTFAL,
2024%5A298 P95l R JRABEILYYaFvLUD2BHAEHE ¥5ILy FR 2K €2 1000n ¥—k-A 5 ‘ AEHSOMY, BHMERCET,



